4’ CHEN HSONG 4’ CHEN HSONG

MK6 PRO

Euroseries

Datasheet




o
—
Q
N

MK6 PRO Euroseries

INJECTION UNIT

SPECIFICATIONS UNIT JM88-MK6 PRO JM128-MK6 PRO JM168-MK6 PRO JM208-MK6 PRO JM258-MK6 PRO JM328-MK6 PRO JM398-MK6 PRO JM468-MK6 PRO JM568-MK6 PRO JM668-MK6 PRO

o a2 | a1 6% wa

©
o
©

1680
450
680x680
470x470
170-520
970
42

2580
560
840x840
580x580
190-580
1140
85
150
9
160

3980
720
1040x1040
730x730
250-730
1450
111
215
¢
160

5680
870
1230x1230
860x860
350-880
1750
166
250
17

540x540
360x360
125-380

9

17.5
21
12.9
3+1
5.53x1.28x2.02
265

17.5
30
16.6
3+1
6.40x1.56x2.24
350

17.5
60
31.1
5+1
8.42x1.94x2.19
810
16700

35.5

4.52x1.17x1.88
170
3300

9.30x1.94x2.33
920

All technical data and features are subject to change without prior notice.



03

©®125V 15

?110

70

105
140
175

210

—o ::\ y, 210
S0\NP/IEEL):
>—0—0—0—0 140
O—0—© 105
O0—0—< 70
n o
< O - (0]
n m
o o o ® o o
o o o ® © o
© © & o o © 6 6 0 o
7an SRR o)
r-s | Y
= N—]
\68-M12x24
360
540 )
s
Opening Stroke 340mm
Mould Thickness Range125-380mm SRl
Ejector Stroke120mm
P T oreem 0
(o ! ) - af
\\;‘_\l ] \ 1 ( ;
LT \ (e ST\
i e B \
i ]
R T E@le |2
- = S SRR
Py oA AN -
R i : o -
T o —| —

All technical data and features are subject to change without prior notice.

4240~4515

1340 553 571
o 1
. L]
MiK@emo |
5% 80 - B B
g m | [CEs @
28 = ‘
'\2 ° e L] | § ﬁ ]
O| —|
D —
';3 Y a A 3 Sk ]
©0|
) JNEE | JNEE . JBEE |, JWBE I]
T T
1006 533 1160 601
3635 ®48 Power Inlet/ | 310 136 730 2
4320
Cooling Water Inlet:
PT 3/4"
2374 I
<
N _
]
1974
Mold Cooling Water Cooling Water Connection PT3/4' Motor Pump
N
——
wn
g 8 3
sl
mh
8-020 =
Foundation Bolt Hole, f
75 75
3635




05

®125V 15
$110

605
410

o o © 00000
e 1 o o
o o o K
) o o
\Y ) © o \\J
76-M16x32
410
600

Opening Stroke 380mm

Mould Thickness Range150-450mm

_Ejector Stroke120mm

?3

SR10

/\—ﬂp——%

ITNTT
o i
~<
L F i G 15
1 o — N
i jﬁ A
f
oy
| =iy
i .
i |
[ 1] N
|} o
= - ][
TR
~ o L . .

J[C

o o

All technical data and features are subject to change without prior notice.

2110

4738~5028 623 581
1562
- R
1 ‘
0’8000 E=—Te—
Q| 0|
B Cesn s
& 1 1o 3
g s MEE I
9 o~
)| W '333‘ A & a & 5 < r
[=] 0|
N ~ e | e | e | @R i
1013 670 Aleo " e0][
@48 Power Inlet/ | 350 = -
3920 / 165 750 157
4720
Cooling Water Inlet:
2631 ~ PT3/4"
<
(=]
IS _ R
&
Mold Cooling Water  Cooling Water Connection PT3/4' FHE Motor Pump
§ E = 9 [d e ° " 5
-] 0 = ]
ac °| 8|
)| H
85 il - L o
] . 5
= — i —— 1 = = - :F‘TE'H i
8-020 = g, &, = %F
Foundation Bolt Hole/ / 350
Electric Cabinet| @48 Power Inlet/
75 838 855 2077 75
3920




07

@125V15 m @ owmouno
R Ro RI=RIRX
@110
N\
N 7
e\ @ l > 280
L \e \e N —— 245
203.2 < ® | 9 2 210
©o04go > 175
® 0 ® m 0
_J z 70
o 50.8 \ (&)
00| I\ — — 0
©O| < k
© 0 ®0 0® (-
© 0006 ©0 0o
(] (] o (]
e © o
(-] © | (-} (-}
(-] (-] (-]
k/ | /f N J
L gy T
8-©25.4 /
56-M16x32
470 P
680 b
Opening Stroke 450mm SR10
Mould Thickness Range 170-520mm
_Ejector Stroke 140mm G
<IN .
<N
=
! I
1! I s
1 1 a
L | | o
T i
g W Sar=
» 1 hl al .
e 1 I .. l
I

All technical data and features are subject to change without prior notice.

8-920 /
Foundation Bolt Hole,

5200~5530
1688
']
— P
. I] o0 T T AISE < MK Sews
[s2]
= Ces1 S
RE g
. . s
0 | —
, B4 =

- ® I A A l A & S 7

4l 0|

2 ! JWBE = o IEEE

g | |,
1125 760 ®48 Power Inlet/ | 350,
4200
5046
2863

(=)

m

A A ————

@

Mold Cooling Water Cooling Water Connection PT3/4"

165

636 _. 603
MGrne
_[60 60_| |
800 157

Motor Pum

430

460

o 9
QS
J .
T = = — T
— o —
Electric Cabinet| © 48 Power Inlet
75 985 905 2160

75

4200

.t&*
| 557

08



09

$160V 15 5 2 22823
N DO N — (N N ™M
®125
‘e (] D '({a\)‘} 350
\\j“\f — 280
2032 e © e ¢t 210
] ) 140
1 sosfe \ o o ° 70
2R o i
o o o © °e e
(-] o o © © °
e © o © @, © 0 0 0
/\0 o o /30 ° °f\
N - - [, - NI
~18-¢254 /
60-M16x32
530 -
760 Ny
Opening Stroke 510mm SR10 7

Mould Thickness Range180-550mm

Ejector Stroke150mm

||

All technical data and features are subject to change without prior notice.

15
- \
= 8
= =
8 %/ 8
S S

5819~6199
1902 768 668
5 = il
- o
L1 v M8
2 (13 ) g
3~ T D
N8 it 5 N
7 . 0 [:E I ]
=l =
@ !IEL @ a A a 8 o~
N &JY | | S | =
=i v T 7 1
1300 843
4787 @48 Power Inlet/ | 350 s
5692
Cooling Water Inlet:
3199 - PT3i4"
|
g C_ . I
O
- L0 o9
8 : = Sl
S| qE—me——= -4 — - - !
- 2
=] = [ ! ©
= ~|
9 A /\ g
s 1 / \ 1 , \ s
7N A S
Mold Cooling Water Cooling Water Connection PT3/4" 2500 Motor Pump
. 5 |
g8 i
<] - - - - - - -
|
[¥a)
8¢
1 {
T = == — —t=T = =
10-320 B . . = ]
Foundation Bolt Hole//
Electric Cabinet ©48 Power Inlet
75 1121 1025 1181 1310 75
4787

10



11

All technical data and features are subject to change without prior notice.

203.2
. o O o—o 7
ag OAT0 % ° ;
3 2 ; ; —0
o o O (0]
o O O o O
o oo o O o o o
o O O o
o o O/ﬂ
8-925.4 / I
60-M20x40
580
840
Opening Stroke 560mm
_Mould Thickness Range190-580mn
Ejector Stroke150mm
: _:I 15 1]
6— |
= [N E
——m g ‘g
: L— 50 —
U

6010-6390
2000
828 726
1
= R
L1
2]
] @ 8
~ & ~ N
g o
i
N ﬂ_ ™~
N g 0
1432 843 248 Power Inlet 350 J 60 60 L
4917 187 1000 207
5879
3386 Cooling Water Inlet:
PT 3/4" ~
i - I %
3 ] N
- [={
< =1 J'q b
o 4——-——- - ] : - -
fw o n N
- ; ° ] 8 S
L T : T
i n i A
[=] 1 7\ 1 /A (=]
[ | N | 7N o~
° | i N ©
- Sl o2 S L
A : " 2500
old Cooling Water Cooling Water Connection PT3/4
Motor Pum
—xHllo o
TE F— * m—
o |
ol of | Il
S | n i | 8
- _ _ _ _ - _ =
0 0
ol [
82 r ‘ 3
)|
[ E i
- - |I__| . K - i
10-%20
Foundation Bolt Hole Electric Cabinet// ©40 Power Inlet 350
1275.5 1025 1156.5 1310 75
4917




13

o
o O <t — 00 1N AN
AN 1n O — AN AN M <
®125 ‘
( 1
(e 0—60—0 ( 420
g o oS 350
Q | 0—0—0—0—4¢ 280
203.2 s © | O P9 210
o o o O0—60—¢ —140
508 +—— &
Qg - i ° 0
| © o o
o o o
(o] o ©
1
o o0 O (o] (o]
- (o] (o] (o] (o]
o o /0 o
8- (25254
68-M20x40
680
970
Opening Stroke660mm
Mould Thickness Range225-680mm
_Ejector Stroke180mm G
= 15—
'_: —.
F | \
’ = :
E i ——= j NE 1
P 3 <
i g H 9
J = 50_| =
]

All technical data and features are subject to change without prior notice.

7296-7736
2270
-»
—1
- R - o
(=) (=]
S el o N
N 5 SN
. ol =
[=] a a a g l s 2
2 : O o | oo | o | o | 2
O ] .
| r T R I
1600 (0% ©80 Power Inlet/ J_m_
5940
7048
Cooling Water Inlet:
PT1 S 2753 -
=1 Fin
- - wn| M
—| oo
o) . . 5 O
g 1=ty =5 - > mm s
- N
. ° il ELL
I = /\ T o
"
| \ <
(=] 4 |
| // \\\ // \\\ IS
Mold Cooling Water  Cooling Water Connection PT1" = 2753 MotorPumq
™~
1 — 1
1 U —
wn| |
3 5 G
wn| W
e | i
== ] 3
(=)
= = = = = = == =
10-920 . . / A 480
Foundation Bolt Hole Electric Cabinet, @80 Power Inlet
90 1435 1250 1635 1440 90

5940

14



15

®160V 15 o~
m X coocooo
o O <t — 00 1N AN
(] n o — ANANmM<
®125 7950-8420 953 .
+
2360 _
ﬂ % —
\ @M ‘ racoe
B\ H—1420 u ‘
Q s, (=]
BB EEe S ——
( —— 280 8 : gg
| | T [
203.2 1 1 ~——210 ol & J&se ] 1Tal o a a a a 8 § -
» a Uil A ﬁ . A I I _I% _JK ]
50 8 ] I~ 140 ! 11 =T L L 1 | l 1
: [=J
lé_\ (?1 (o] B 0 1990 L 1155 ®80 Power Inlet & 203 20
S ~ o ° 6720
7648
o o o o o0 o Cooling Water Inlet:
8 a6 o N ‘ 4255 - 13 PT11/4"
o oo i o o o - : : ; s T/
J 0 I o
o oo o o o = e 8
o o o / o o o R==7 J‘_j A
N| = 3 = T
— [ ous-n 'ij 2
| - £ = .
: 8-925.4 - 1T - °
|68-M20x40 8 J A K| 3
. ~ ’ ~ <
730 )
1040 ' ) "
< Cooling Water Connection PT1 1/4
Mold Cooling Water MotorEum 213,
Opening Stroke 720mm SR10 = .7 — 7. = B o
. o]\ o I|ple o] o I oY
Mould Thickness Range 250-730mny — = — — ——— ‘ J ~ o 2
) ! . ol o ol a 0 &
Ejector Stroke 215mm G § E ‘ i 2
: - - -——1- - : F— ——— " ———Hd——=
N e | I | lj@ 3
n ! ! f )
15 ] 9 e — — —i e e—— ah— — £
G O . - ﬂ [=)]
]’ I \ 12-020 . HE -l- - P
Y é Foundation Bolt Hole / e B[
7 )£ Electric Cabine ©®80 Power Inlet
2 ~ H a
5 50 5 115 1775 1355 295 1492 1580 | 192
— 6704
o=u U

All technical data and features are subject to change without prior notice.



17

O N
N AN o0
n "N O O O © © O
MANNN O — AN AN M < 8792~9330
2684 988 898
®160 . =
T e O R
Z; Z N N 490 m =
N\
(1N o ¢ o /‘ D 420 — — N
“k"JU ° \ "/ 350 E 9 E
3556 — L o dod | @© NI e i w1 oR
203.2 —\ SANSN — 280 d 2 L T{a| o o]alalald Eh
76 2 0o 0 O Q o © R o n ﬂ . TE |, E 4 JEE | IENE { TEE |, E N
o _\ " 210 | T T T I T
o0 6 o0 o
" 50.8 — ) \ ° ~—— 140 7352 Mﬁs = 323 L 200 376
©Q _ ~ 0 8750 |
—
=5 o WY -
° -] o 4690 ‘ Cooling Water Inlet:
w 000 o0 -] oo . PT1 1/4"
0o 0000 O o 0o o ] .
- o 00 o0 | o 0o o = ] - 3
8- $50.8 /— ©'o . T L el
7T\ o o0 o oo o 2 | = = B L
\UP /I o o 7 . 2t z 3 =
N2 f S=iEs -
' 5 " AN .
100-M20 X 4 g | A L AT R -
g SN I o)
830
1160 3
Mold Cooling Water Motor Pump Cooling Water Connection PT1 1/4"
Opening Stroke 820mm SR10 ﬂ _ _ _ \
_Mould Thickness Range300-850mm B z o e FL_F - L L]l 233 o
Ejector Stroke 220mm G | 5 5 g &’
R 5 T
I ] = ot
I . o - 1t — == ; —
— oo de
I [ I — :
G 1] - - - - 1 Q
? o
—— 12-¢20 N -l . E
= [ - - . Foundation Bolt Hole i B -

- I
Electric Cabinet \ ®80 Power Inlet

113 1942 1525 310 1470 | 1900 92

m [ 7352

@200, ‘
3
?160,

o=o o

All technical data and features are subject to change without prior notice.



19

®200V 15

®160

355.6\—@

203.2 R

All technical data and features are subject to change without prior notice.

76.2 —
50.8 —
7l 3
ANl 0
8-050.8 |°
o o ° ° ° o 0000
8-@¢/¢acooo o@l@o © 000 0O
o o ° ° oo
oo o ° oo
o o o , o o
[ 1 g
104-M20 X 40
860
1230 o<
St
Opening Stroke 870mm SR10
Mould Thickness Range350-880mm|
Ejector Stroke 250mm
o : . 15
i J | H G H
H i — j/ 2
1 = (e
Lt | = SLlH:

8874~9294
968 867
2950
i
{“ MK S
1 '
— e — ol
82 7
2 8 INEG A
a a a S
§I I I I I IR &
J J LRI ™ hid b 1
©80 Power Inlet % Jr.sg J_L
7356 4 352
o 34| 1248 32|
4899 Cooling Water Inlet:
PT11/4"
I T .
- = ; 5
a = T — B K
= = e
o D o
— - : . - &1
[ T . ) S
< _ - f N VRN el
L ~—i- ~= N . |
Mold Coolini Water Motor Pump Cooling Water Connection PT1 1/4
| :g[m 07 2
~"M § _ =] _ _ 3 g - N ~|
=t s e Y s W s 5 =ik g,"
- - - - - T
|
| | Ju
<L 1 — : o 8
14-024 : : : 0L
Foundation Bolt Hole/
©80 Power Inlet
[Electric Cabine
100 1160 1165 1165 674 1527 1485 80
7356

20



21

Opening Stroke 920mm

Mould Thickness Range 380-920mm

Ejector Stroke 265mm

15

$200V15 o~ o
n MM - © OO O0OOO
nNnowo <t OnAO\O
M ANNLNO — NN <IN
©160
\(? L o\| o &;!>L560
A O A\ 0 . 490
AN =2
355.6 T Y N '@ ;350
2032— °°° 7 dle — 280
762ﬂ o 0 o0 o 140
Sle 50.8 — 2 s JRN o ©
= °e W ° o
o o o o000
8- ¥50.8 ©
8-@254 © 00 o0 oD ' Do o 0000
- \\ oo o o oo /\
\&"/’ o o o f o o \\’/
NS
92-M20x40/
920
1300

All technical data and features are subject to change without prior notice.

®160

9375~9825

3070 1005 _, 905
i
— g
< = MHE
AR "
Ne e ; NEE
=
'y s a 'S A 8 8 g § —|
§ U IJ . IJ HLI’." | e o | ] | N @ (an}
¥
277, 1348 16
7576 80 Power Inlet 185
9216
Cooling Water Inlet:
r 5139 PT1 1/2"
I Tt = ]
= ~
. — . &
ol o = T o
5 Sl = 3 -—
| ==t 28
* . Q) | O
= .
£ AN N N | I
= Sl S~ i o ! )
Mold Cooling Water Motor Pump Cooling Water Connection PT1 1/2"
= =F f D n oG
_ — 1 —1s —— =T e =i .
ﬁ E \ 0 e omo
g5
= | —1 T = =K 5— . N
16-024 }
Foundation Bolt Hole
®80 Power Inlet
Electricity Box
100, 938 950 950 894.5 651.5 1527 1485 80
7576

22



23 24

Robot installation Dimension diagram

}Y
F G
M D
— (0]
] o EynEIEER
i JM88-MK6 PRO ~ JM258-MK6 PRO
* , 1344 S
T I B N | d :
. . - @ =1l 9 . 1o P 8-d1_ b2
O o eooo0 (XY Y] ::U q — D b1 E
8 ol .IOIE: :Eonol .o m -
. 9 O\::|::(O o o
X JM328-MK6 PRO ~ JM668-MK6 PRO = N
— = = ! .o 6d . C T TS
, | ]
= < ©
28| | 1[]_ . = Y View
A 1
N _
] \ T—="T
1
N K
X View L

“ﬂﬂ“ﬂﬂﬂ“““-“““““““ﬂnn“ﬂlﬁlﬂn

JM88 MK6 PRO 1165 154 513 185 160 M16x32 154 115 17.5 140 210 M12
JM128 MK6 PRO 1200 301 154 410 410 583 541 180 571 370 870 745 670 200 50 55 160 M16x32 154 115 600 35 70 140 245 M16
JM168 MK6 PRO 1240 341 154 470 470 596 563 190 571 420 920 831 760 200 50 60 200 M16x32 154 120 680 35 70 175 280 M16
JM208 MK6 PRO 1317 395 150 530 530 728 628 190 571 500 1050 934 843 200 50 80 220 M16x32 154 136 760 35 70 175 280 M16
JM258 MK6 PRO 1362 423 170 580 580 768 666 213 571 570 1120 1002 843 193 70 105 220 M20x40 170 196 840 35 140 210 350 M20
JM328 MK6 PRO 1400 486 24 680 680 827 781 91 475 700 1350 1226 1075 475 80 110 260 M20x40 180 206 970 35 140 280 420 M20
JM398 MK6 PRO 1400 532 -22 730 730 893 803 91 410 920 1120 1504.5 1155 330 80 110 260 M20x40 178 206 1070 35 140 350 490 M20
JM468 MK6 PRO 1410 581 -36 830 830 948 858 91 350 1010 1210 1526 1325 270 80 110 300 M20x40 195 206 1190 35 140 350 490 M20
JM568 MK6 PRO 1300 635 -16 860 860 925 825 127 227 1022 1408 1567.5 965 135 90 140 820 M20x40 210 250 1350 42 148 450 620 M20
JM668 MK6 PRO 1300 675 -20 920 920 965 865 127 / / 1348 1568 / / 90 140 880 M20x40 225 250 1350 42 148 450 620 M20

All technical data and features are subject to change without prior notice.



MK6 PRO Euroseries

26
STANDARD AND OPTIONAL FEATURES STANDARD AND OPTIONAL FEATURES

All technical data and features are subject to change without prior notice.

CLAMPING UNIT STANDARD OPTION INJECTION UNIT STANDARD OPTION
Automatic mould height adjustment () Ceramic heater bands ®

Hydraulic safety device () Nitrited screw and barrel ®

Euromap 2 platen design () Bi-metallic screw and barrel o
Euromap 13 ) Shut-off nozzle o
Euromap 18 robot mounting ® Linear transducer on injection stroke ()

Euromap 67 robot interface ® Linear transducer on injection carriage ()

Euromap 70 & 70.1 interface for magnetic mould clamps (o) Screw rpm indicator ()

Extended mould height (o) Automatic lubrication of injection unit (o)
Mechanical safety bar (o) Manual lubrication pump for injection unit (o)
Product chute photo sensor ) Simultaneous recovery / parallel plasticising (o)
Electric power door (front) with sensor (o) Hopper slider ()

Infrared light guard (front door) (o] Hopper ()

Automatic lubrication for toggles (] Injection pressure display ®

Automatic lubrication for mold height adjust (o) Feed zone temperature control ()

Manual lubrication pump for mold height adjust (o) Barrel insulation jacket ()

Additional core pulls (on moving platen) 2 Digital back pressure control °

Air-blows 1xFP 1xMP Broken thermocouple detection alarm (o)
Additional core-pulls (o) Blocked nozzle and overflow detection ()

Additional air-blows (o] Hydraulic/pneumatic valve gates control (o)
Ejection-on-fly (o) B&R PPC2200 controller (15.6" display) ®

Electric power door (front) (o) Sequence editor [ )

Automatic clamping force control (o] High-sensitivity mould protection )

Power sockets 400V3P32A 1 USB interface [ )

Power sockets 400V3P16A 1 Euromap 67 interface °

Power sockets 240V1P32A (o) Industry 4.0 connectivity (o)
Power sockets 240V1P16A OPC-UA interface o
Water manifolds (extra) () Freely programmable core pulls °

Hydraulic by-pass filter (o) Free 1/0O configuration ()

Hydraulic oil pre-heat (o] Hot-runners control ()



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14

